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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Q1. fraferRea wmemi & & v &1 omam 150 Ysgi H FTEATEATeR dteror Hifo ;

Critically examine the following statements in about 150 words

each

(a)

(b)

(e)

(d)

(e)
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T et & A BN & W § srifad afed g |

The introduction of Western education transformed India in unforeseen
ways.

1@%@%@%3@1%%%%%@3,6@@-%
Wwﬁwmﬁm@mm,ﬁmwﬁwﬁ
NI i & &Y o™ 1 w8 F7 T el |

Tipu Sultan had little success in setting forth a course of change
significantly different from the general experience of 18th century crisis
of Indian politics and society where public life tended over and over to
become a system of plundering.

oft Jm st (aatrer 3o ), 1878 %1 <3t I8 W 7 Friwr % forn
mwmﬁuﬁmaﬁrmmaﬂﬁéuﬁé@aﬁé&m@
3Ha | 99 99 g% |

The Vernacular Press Act of 1878 was designed for better control of the
vernacular press and to empower the government with more effective
means of punishing and repressing seditious writings.

1920%mﬁmﬁm§ﬁwaﬁm%mﬁa§maﬁmﬁw
SUATE TAT ST el wem Y |

The rise of the Communist Movement in India in the 1920s lent a
militant and revolutionary content to the Trade Union Movement.

20ﬁaﬁ%mmﬁ,%m%uﬁ%¢w®aﬁwaﬁmﬁ%§
shifderl Tl % 327 % fore Suges aremaor o |
In the first decade of the 20th century, the atmosphere was ripe for the

emergence of revolutionary groups to fill up the vacant space in the
political map of the country.

10x5=50
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Q2. (a)
(b)
(c)
Q3. (a)
(b)

(c)
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3% vrarfeedl @ w1 & Hd U @19 ¥ g4 g YA a4 IS 6 &= § Wi fovd
§ apoft o | 3F® UPAE dul HEEArdl e &1 gEAT 8 oush
AT 3 I R WG & gRuie aur favaufag wfen # wEig
fopan | feoaoft FifS |

India had been the world leader in the field of hand spun and hand
woven yarn and cloth for many centuries. Many nationalist and Marxist
critiques considered that the British dominion deliberately shattered the
traditional and world famous handicrafts of India. Comment.

ffafie wem & d0F wia # ugare 3 fea foafim ol @ o s &
wehe fopan 2

What were the various ways in which nationalism manifested itself in
India during colonial rule ?

S 3fe St 1 w1 T ofin wifem & w9 4 3% v oneyl syt fie
T 3 | gt W HIEH FUA Al e W Eh T I | WECEHAS
faa=m shifst |

The East India Company had thought that they had found an ideal
puppet in Mir Kasim. Mir Kasim, however, belied the expectation of the
company. Examine critically.

ffew =1 & 201 61 ITAfEEE g ¥ 9d &1 feg R gafaa o 2

How did English utilitarian thinking impact India in the British era ?

= iedftsh 3 << 4 & % g8 W smeam Akier avd o forn o, 3
I WA DS AREH ® aH ari grr it T8 fEm i aeET FE 8 §HR W
foar o1 | 1 ! oran 2 T il AfEEr F gwawelt g9 % favaw i
TR & 9971 36F 99 ¥ 3o 21 H g ® % 2 faug smen Fif |

The same Gandhiji who withdrew the Non-Cooperation Movement on
the issue of violence at Chauri-Chaura, refused to condemn people’s
violence during the Quit India Movement. Do you think that he was
losing his faith in the efficacy of non-violence and was willing to deviate
from this path ? Elucidate.

FIAs TS sAfeTd ¥4 @ Wqt U9 SEgl ¥, W I TR @A & o
SATavE ATy wraA i F oft | Rl afea feamm Fifs

While individually the Marathas were clever and brave, they lacked the
corporate spirit so essential for national independence. Discuss with
reasons.
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Q4. (a) WNA H 1858 % WG § YW HaUfeh QuRl du @u U4 Toife W I
gHra i fee=mr Hifs |
Discuss the major constitutional developments in India after 1858 and
their impact on society and polity. 20

(b) Wﬁ%%ﬁmm(assemion)ﬁmﬁmiﬁﬁ
HfT |
Discuss the changing nature of Dalit assertion in India in the twentieth
century. 20

() Tawrem % wvanq It framadl 1 frg yR st @9 § e fean mm an 9
394 WER 9 41 ftrent T 2

How were the Princely States integrated in the Indian Union after the
partition ? What role did Sardar Patel play in it ? 10

HXS-B-HST 4



@vs B
SECTION B

Q5. Fraferfga st § ¥ U 1 o9 150 Y153 § AHTEE-TeHeR UHeqor hifso ;

Critically examine the following statements in about 150 words
10x5=50

each

(a)

(b)

(c)

(d)

(e)
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39 91 % %3 HrO1 4 ot a9 9 heife wifa we s | 88 |

There were many reasons why the industrial revolution first happened
in England.

Tuiferm st TR SaEe i TEd 9€i Yo HET S GehdT & a7 38 “Terd
fefera ot & @’ & w9 | aftfq foran s gar @ |

Napoleon’s continental system may be reckoned as the greatest blunder
and may be described as a “monument of misdirected energy”.

IR AT 3194 FIfYd Igvd1 l I HH § W @1, T 39 = &
oy w@ 4 9%a @ f gfafifes gsoas § aft amfet & sfae e
ST =fE |

The Chartist Movement failed to achieve its stated objectives, but
succeeded in seeding the idea that a representative democracy should
include all citizens.

Wfd Ig & 3nm, Te-Fe iEen % $5 gEEye a1 39 AEe H & T
| g TG 918 ¥ |

During the Cold War, some important leaders of the Non-Aligned
Movement wanted to keep the movement away from the military blocs.

IE T A AME I OF 3a1 & €9 H @1 S 39 9 & G @Sl @ Fehdl
o1 Nt qfveHfi 2w, A W sma s o R s s o s @ o |

The Arab countries looked up to Nasser as a leader who could
withstand the pressure exerted by Western countries on Egypt to make
peace with Israel.
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Q6. (a)
(b)
(c)
Q7. (a)
(b)
(c)
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TgGal & I h 9N H 1 “Ugg” o1 2
What was “enlightened” about the Age of Enlightenment ?

1840 % 21 | AT § 3¢ hifdepil I8t & HI0T Ua qiomy 41 9 2
What were the causes and consequences of the revolutionary upsurge of
the 1840s in Europe ?

zfaur anfieRt il vad-3teund I SR, THE i Aifg F onfueie Hify
SR & % g FHenfHEi 1 3 snuny iy ¥ Jfed w3 Wy a0
SRR wdAl f | F@T % A Tg I Afd w aEa wGHAvEHE w6
T H H HH T 7Y ?

The white-minority government of South Africa treated the natives very
badly by denying them fundamental rights and made Apartheid as
official policy. How were the people able to end Apartheid policy and
establish a transitional rule ?

faftm gl d tgae & 3@ A F JEanst # fGefea w= o 5t syl
Y & ATl H UH a1y atedt 78 off | fodwmn Fifsw

The rise of nationalism across nations shattered the chains which held
together the empires of modern Europe. Discuss.

il T8 3g # I H fawa & e whom U | A F F9 IIw a1 e
q | greAtton, STHRERT & T W 36 Aue WNE GuEq: e HEwyul 9 |
feoquft hifsru |

In the American civil war, the victory of the North had many
consequences. Some of them were direct and obvious. However, its
indirect effects on American development were perhaps even more
important. Comment.

It 918 98 ¥9 (1917) 1 & A1 4 (1949) hi, v 29 # Rada @ @
GawTs T & | ool Hifs

Revolutions, whether in Russia (1917) or in China (1949), are a
disastrous way of transforming a country. Comment.
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Q8. (a)
(b)
(c)
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digd el % yaig #, & 9 Ig fowm & @iy, g amer sy o @
Jgia o1 | feoaoft Hifse |

Europe was at war with itself in the first half of the twentieth century
with a long cease-fire. Comment.

Wi gg A aufta qon v mEwifes & ®9 § @fEn & 329 & e, =9
A R, 3HI @ 7 | wten Hife |

The impact of the end of the Cold War and the emergence of the US as
the lone superpower has been both, good and bad. Discuss.

1 A9 gaFd & foh i faamel & fver qun fava & wf=r s9m0 wey &
Hgh Y T A HEeqol syt fard 2 2
Do you think that the United Nations Organisation has played a

significant role in resolving international disputes and ensuring peace in
the world ?
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